1617-257 Mon Nov 14, Hour 26: Functions with little
discontinuity are integrable

Read Along: Secs 11, 12.
Agenda: Meas-0 disco-set -> integrable
Riddle Along: Can you find a cont. *onto* f:I->I, which is diffable with Df=0 *except* on a set of measure 0?
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Theorem 12.2 (Fubini’s theorem). Let Q = Ax B, where A is a
rectangle in R* and B is a rectangle in R*. Let f: Q — R be a bounded
function; write f in the form f(x,y) for x € A and y € B. For each
x € A, consider the lower and upper integrals

/ f(x,y) and f(x,y).
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If f is integrable over Q, then these two functions of x are integrable
over A, and
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Proof. For purposes of this proof, define
= [ fey) and Teo= [ fxy)
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